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) Divide the following.
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10)564 310

10779 350

100 ) 492 300

} Calculate the following.

| 202904 + 8= 28896 + 3 =

4 564300+ 10= 374 200 + 100 =
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ft, Divide each of the following.
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fD’ Solve the following.

| 473219 +9 400305+ 7 =

731405 + 7 o4t 131 + 100 =

2
Y
6 236808 « 24
8

3
5 841093 + 3
7
9

4y 376 ~ 43 = 750 050 - 50 =
I47 336 ~ 6 = 10 917141 -4 =
7
fE} Solve these problems.
Boxes A B

Number of beads | 690 568

| The table above shows the number of beads in box A. If box A has eight times more beads than
box B, find the number of beads in box B.

2 75 852 books has been distributed equally to 4 state libraries. How many books will each library
receive?
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